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Syllabus NSQF Level 4

WORKSHOP CALCULATION & SCIENCE: 32 Hrs

Unit 4: Profit and Loss Profit and loss - Simple problems
on profit & loss Profit and loss - Simple and compound

interest

1. What is discount? ddeid 0T3S BII?

A : Selling price is less than Cost price fasht foora @Rt
fretden ot 3me

B : Selling price is greater than Cost price fasht fra
WS fhHdTaST ST 318

C : The reduction given to the selling price of a product
IcTeATe fasht ferdten fgaett Burd

D : Selling price + discount fasht fad + Tderd

Ans:C

2. What is a profit? %[ Ul BI?

A : Selling price - Cost price fasht fooud - @<t fbra
B : Cost price - Selling price ¥Ret fBud - fasht fsua
C : Selling price + Cost price fasht fora + fua fera
D : Cost price + Selling price IR&t fora + fasht fewa
Ans: A

3. What is the term, if an article is purchased? BdTGT oid
fdd Sdea™ ATelT B FEUTdId?

A : Selling price fasht fibra

B : Cost price <! fbra

C : Margin price A1 feoma

D : Discount price qzﬁm?r

Ans:B

4. What is the expanded form of S.P? S.P o fawRa a4
P AHTE?

A : Selected Price fiasaiett fad

B : Special Price fadly fosua

C : Selling Price fadiw fadsaa

D : Super Price gﬁRﬁiﬂﬁ

Ans: C

5. Which is the short form of profit and loss statement?
A1 3110l diet faumTa dferd $u Hlord?

A:P&L

B:PR&LS

C:PRO & LOS

D:L&P

Ans: A

6. What is denoted as 'I'? I FeU[d BT &Rfdel 5TTd?
A : Principal

B : Interest

C: Rate

D:Year

Ans:B

7. How the 'Principal’ is denoted in simple interest

calculation? ITedT AT oA TAfGuer w4 =ffder
STd?

A:'P

B:'I

C:'R

D:'n’

Ans: A

8. What is the formula for the calculation of simple
interest? HATEAT AT TV T B 3Te?

A:] =2
100
B:J =19
Pnr
C:I= Pr
n 100
D:] = Pn
7100
Ans: A
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9. What is the formula for compound interest, if

compounded Annually? Ishdié ST T B 3T, SR

TqIfSp ThaTe bedl STTA?
2n
A A= P[1+ (100)] andC.I.=A—P
4in
B:A=P[1+Z(E)] andC.I.=A—P
C:A=P[1+(ﬁ)]nandC.I.:A—P
D: A = Pnr

100
Ans: C

10. How the years is denoted in simple interest
calculations? ATEAT T TUAAED T BRft gRffdett strara?
A:P

B:lI

C:n

D:r

Ans:C

1. How the profit / gain is expressed? TWHI/AWHI BT Ah
el STar?

A:¥

B:S

C:%

D:*

Ans: C

12. What is the formula to find Loss%? JbaA% MUY
A B 3Te?

loss X100
CP

A:

. CP
* loss X100

. loss+100
SP

.__sP
* loss+100

Ans: A

13. What is the cost price (C.P) formula if there is a
profit? THT 3T WRel fHHd (C.P) T BRI 3mR?

A (s50-ioss) * 5P

B (Togrprorirn) X 57
(100t o
D (10055
Ans : B

14. What is the formula to find selling price (S.P) if there
is a loss? dYeT STeaTd fasht fad (S.P) MEvar g BT
3TE?

A: (100+Proflt %) X SP

W

(100+Proth %) % CP

C: SP

100— loss%)

X CP

(Sosmiom
D- (100 —loss /o)

Ans:D

15. What is the formula to find Profit%?

TB1% MUV G B 3Te?
A:—L_x100
Profit
B: 2™ 100
SP
c: 2= % 100
Profit
D: Pt o 100
CP
Ans:D
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16. What is the profit amount, if the i - phone cost price
is Rs.50000/- and selling price is Rs.70000/-?

HI-BITt fbAd %. 50000/- 3{0T faisht fbra &. 70000/-
FHITH THRITET IerepH febdt 31Te?

: Rs. 2000/~

: Rs.10000/-

: Rs. 20000/-

: Rs. 50000/-

Ans:C

O n W >

17. What is the selling price, if the profit is 5% for a
computer table bought at Rs.1150/- with Rs.50/- as a
transport charge?

B. 1150/- Hed fddbd Ddeied] BIFYeR SIerdrdt 5% dredd
J[EHTIE 5. 50/- AT 3TeaTH fasht fdra & 3me?

A : 1160

B :1620

C:1060

D :1260

Ans:D

18. What is the cost price if the product is sold at ¥ 572
with a profit of ¥ 72? ¥ 72 T 7 g 3cUTGA ¥ 572 ¢l
fameara car fewa fadt /e

A :¥500

B:¥1000

C:¥644

D:¥472

Ans: A

19. What is the profit % if the cost price of 16 bolts is
equal to the selling price of 12 bolts? 16 Seest fbrad 12
ez fash ferdtear RGN 3T BT % fadt 3mR?
A :13.33

B:23.33

C:3333

D:43.33

Ans: C

20. What is the selling price if the cost price is Rs.7282/-
with a profit of Rs.208? 208 TT THRITIE W<t fbHd
%.7282/- ¥EeAT™ fasht fbwa fasdt 3me?

A : Rs.7074

B : Rs.7698

C:Rs.7290

D : Rs.7490

Ans:D

21. What is the interest earned, if the principal is
Rs.12000/- becomes to an amount of Rs.15600/-? R el
¥. 12000/- ¥. 15600/- SiTel @R febeit <151 fHesd?

A : Rs.2600

B : Rs.3600

C : Rs.4600

D : Rs.5600

Ans:B

22. What is the principal amount deposited, if the
maturity proceeds to an amount of Rs.25000/- and
interest earned Rs.6000/-?

SR Hedydl 5. 25000/~ 30T 15T B. 6000/- Sdch SATeil R
STHT Petell Hos IdpH fddt 3me?

A : Rs.31000/-

B : Rs.19000/-

C : Rs.20000/-

D : Rs.25000/-

Ans:B

23. What is the interest earned, if the principal is for
Rs.12500/- maturity becomes to a amount of Rs.17500/-?
R Hed 5. 12500/- it uRudrrdr . 17500/- Sdbt 38 &R
fbdt st fAesd?

A : Rs.30000

B : Rs.25000

C :Rs.5000
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D : Rs.5500
Ans:C

24, What is the matured amount for the deposit of
Rs.5000/- and the simple interest earned for Rs.500/-?
B. 5000/~ T SeilaTat gRuer STTeieit TapH 31107 B. 500/-
13t fRSUTR ATE) &T5T B 3MTe?

A : Rs.4500

B : Rs.5500

C : Rs.6000

D : Rs.6500

Ans:B

25. What is the simple interest for the principal amount
of Rs.100000 at 10% per annum for 1 year period?

1 aufeaT BraTaEtaTst arfied 10% &M %. 100000 T e
IBHT A8 AT fdt 31T8?

A : Rs.1000/-

B : Rs.5000/-

C : Rs.50000/-

D : Rs.10000/-

Ans:D

26. What is the compounded annual interest, for a loan
amount of Rs.80000/- at 10% per annum for a period of

2 years? 2 IufeT BIATTEAATST dTfScs 10% S 5.80000/-
PN IHAATS! ThdTe dfSieh T3 bl 3TR?

A : Rs.16800/-
B : Rs.92400/-
C : Rs.96800/-
D : Rs.94800/-
Ans: A

27. What is the compounded amount, if the principal of
Rs.30000/- and interest earned at 7% per annum is
Rs.4347? 5R $.30000/- 3 H&eT 3110t a1fSics 7% <151 5.4347
30 aR IS IFHH BIY 3Ta?

A : Rs.30347/-

B : Rs.32347/-

C:Rs.33347/-
D : Rs.34347/-
Ans:D

28. What is the difference between the simple and the
compound interest amount at 5% per annum for 2 years
on a principal of Rs.20000/-?

B. 20000/- T JEATAR 2 THIGTST aTfSies 5% &M AT 3ATf07
ThdTE TN IBH B BIP HTe?

A:Rs5

B:Rs.25

C:Rs.50

D :Rs.55

Ans:C

29. What is the maturity amount if Rs.20000 is deposited
at 5% compound interest per annum for 2 years?

FR 8. 20000 5% THATE AT 2 TuATST 5THT Bt a)
gRuderdr IapH Tl 3me?

A : Rs.22000

B : Rs.22050

C :Rs.22500

D : Rs.25000

Ans:B

30. What is the compound interest on a principal of
Rs.25000/- after 3 years at the rate of 12% per annum?
%. 25000/- T HEETR 3 IR afNE 12% M Ahare
15 fdbddt 3122

A : Rs. 9000

B : Rs.9720

C :Rs.10123.20

D : Rs.10483.20

Ans:C
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